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Answer 3
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Answer5

4 1 5
Show that — — — = —
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Lowest common denominator is 18
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Answer 6
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a) Work out 1— x 2—

Give your answer as a mixed number in its simplest form.
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Answer 7

(a) Work out 2% + 1l
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Answer 8
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(a) Show that — - = = —
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Both fractions must have a the same denominator. Lowest common denominator is 24
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Answer 9
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Show that - ; é =
9

Division is equivalent to
multiplication by the reciprocal

Answer 10
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Answer 1

(b) Work out 1% L 3

Give your answer as a mixed number in its simplest form.
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Answer 12

5 7
(b) Show that — + — =1—
8 12 14

Dividing is the same as multiplying by the reciprocal
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Answer 13
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Answer 14

(a) Show that i+l= lé
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Answer 15
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